Name _______________________________________________
Chapter 7 Exam, Math 1010, Spring 2005

1. Use any of the following methods to solve the system below: graphing, substitution, elimination or matrix methods.  Then state whether the system is inconsistent, consistent, dependent or independent (it may be either one or two of these).  Show all work.  I can give you scrap paper if needed.  If you use matrices, write down the matrix and commands you used in your calculator.
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2. Use any of the following methods to solve the system below: substitution, elimination or matrix methods.  Then state whether the system is inconsistent, consistent, dependent or independent (it may be either one or two of these).  Show all work.  I can give you scrap paper if needed.  If you use matrices, write down the matrix and commands you used in your calculator.
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3. Find thecoefficients of the parabola 
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 which passes through the points (1, 2), (-1, 8), (0, 1).

4. Write the following system of equations as an augmented matrix. (You don’t have to solve it.)
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5. Write the following matrix as a system of equations.
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6. Perform the row operation 
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 on the matrix below.
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7. Graph the following system of inequalities. (Don’t forget to indicate the region that satisfies both inequalities in the system.)
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[image: image9]
8. Given the graph of the following system of inequalities, determine the cornerpoints.
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9. The following system of inequalities has the given cornerpoints.  (You don’t need to graph the system.)  This system represents the constraints on a linear programming problem with a revenue function given by 
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.  Determine the maximum revenue.
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cornerpoints: (0, 0), (0, 7.5), (12, 0), (3, 6)
x + y





3x + y





y





x








_1174630436.unknown

_1174630667.unknown

_1174630957.unknown

_1174632073.unknown

_1174632445.unknown

_1174631400.unknown

_1174630746.unknown

_1174630507.unknown

_1174629813.unknown

_1174630169.unknown

_1174629395.unknown

